
受　験

番　号

得　点

（2025 年度）　 英　　　語　　解 答 用 紙　その 1

Ⅲ‒Ａ

⑴

.

⑵

It is because the person thought

.

Ⅲ‒Ｂ

Ⅲ‒Ｃ
①

②

Ⅰ‒Ａ 1 ア ・ イ ・ ウ ・ エ 2 ア ・ イ ・ ウ ・ エ

Ⅰ‒Ｂ 1 T ・ F 2 T ・ F 3 T ・ F 4 T ・ F

Ⅱ‒Ａ 1 2 3 4

Ⅱ‒Ｂ 1 2 3

Ⅱ‒Ｃ 1 T ・ F 2 T ・ F 3 T ・ F 4 T ・ F 5 T ・ F

Ⅱ‒Ｄ 1 2 3 4



受　験

番　号

得　点

（2025 年度）　 英　　　語　　解 答 用 紙　その 2

Ⅳ‒Ａ

⑴

The sounds［

］500km.

⑵

..., so［

］.

⑶

［

］during the year.

Ⅳ‒Ｂ

⑴ ?

⑵ ?

⑶ ?

Ⅳ‒Ｃ

I believe that junior high school students［  should ・ don’t have to  ］belong to a club at school.
　　　　　　　　　　　　　　　　　　　　　　　　↑一方を○で囲む

（　　　　語）

So, I think that junior high school students［  should ・ don’t have to  ］join a club at school.
　　　　　　　　　　　　　　　　　　　　　　　　　↑一方を○で囲む 


